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PAPER-II
LINGUISTICS
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(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.
2. This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
4. Eachitem has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example:  CAD ® >

where (C) is the correct response.

5. Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I Booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

6. Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test question booklet and OMR Answer
sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.
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LINGUISTICS

Paper - 11

marks. Attempt all the questions.

Assertion (1) : Ferdinand de
Saussure claims that historical
studies of language are
worthless.

Assertion (2) : He suggests
synchronic language studies
aimed at describing a language
as a whole at a particular point
in time.

(A) Both (1) & (2) are true.

(B) Both (1) and (2) are false.

(©) (1)istrue, (2) is false.

(D) (1)is false, (2) is true.

A group of words that share certain
grammatical properties, such as the
kinds of affixes they take and the
kinds of syntactic constructions they
occur in is traditionally called as

(A) matrix sentence

(B) parts of speech

(C) lexical category

(D) node

In the sentence “Ram ran fast”, the
word “fast” is an

(A) irregular verb

(B) auxiliary

(C) adverb

(D) ordinary verb

In a large number of languages nouns
and pronouns are inflected to show
the relations they bear in a particular
sentence in relation to a verb. This is
called

(A) agreement

(B) case inflection

(C) harmony

(D) none of the above

An expression like “How are you” ?
is an example of

(A) referential function

(B) emotive function

(C) magical function

(D) phatic function

Latest Sarkari Jobs, Govt Exam Results, m
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6.

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

Assertion (1) : Contrast is a term
used in linguistics for a
difference between units, and
the differences thus obtained
are referred to as distinctive.

Assertion (2) : Complementary
distribution refers to the mutual
exclusiveness of a pair of
sounds or units in a certain
environment.

(A) (1) and (2) are used in

discovery of phonemes.

B) (1) and (2) are used in
discovery of morphemes.

(C) (1) is used in discovery of
phonemes and (2) in
discovery of morphemes.

D) (1) and (2) are used in
discovery of phonemes and
morphemes.

Assertion (1) : Morphology is
concerned with the internal
composition of a word.

Assertion (2) : Syntax is
concerned with the
combination of words.

(A) (1)is false (2) is true.

(B) (1) istrue (2) is true.

(©) (1)istrue, (2) is false.

(D) (1) is false, (2) is false.

Match the items in List — I with
List — II and select the correct answer
from the codes given below :

List -1 List - I1I
(a) construction (i) instrumental
(b) function (i1) restricted

(c) case (i11) endocentric
(d) code (iv) emotive
Code :

@ (b (© (@
Ay @© G () o 3Gv)
(B) @G (i)  Gv) (1)
©) @) @Gv) @@ (i)
O Gv)y @ @) (i)
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10.

11.

Match the items of List — I with
List — IT and select the correct answer
from the codes given below :

List -1 List — II

(a) universals (i) vowel

(b) relations (i) exocentric

(c) constructions (iii) paradigmatic

(d) harmony (iv) substantive

Code :

@ ® (© (@

A) 1 Gy (@) (1v)

B) (Gv) @) @G) @)

© ) av) (@ (1)

(D) @) (@G  Gv) (D)

The motivation for the nativist

position is found in the assertion that

(Note : Mark the correct answer)

(A) Language acquisition is best
represented as the learning of
individual words and patterns
which take place in the world.

(B) The principles and systems
involved in grammars are so
abstract and complex that
they could not possibly be
learned, given any coherent
theory of learning.

(C) There is no highly specific
and autonomous language
faculty at all, but instead
language arises from the
interaction of quite general
cognitive processes.

(D) The innate structure, while
necessary are quite general.

Match the items in List — I with the
items in List — IT and select the correct
codes from those given below :

List -1 List - II
(a) x (i) palatal
d) 1 (i1) fricative
© K (ii1) approximant
d L (iv) ejective
Codes :

(@ G (© (@
A) Gv) @ (@) (i)
B) (@) (@) (Gv) (i)
©) @) @Gv) () ()
D Gv) @) G 1)
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12.

13.

14.

15.

Assertion (1) : The feature
[+ cons] implies [+ obs]
Assertion (2) : The feature

[+ obs] implies [ + cons]
(A) Both (1) and (2) are true.
(B) (1) is true but (2) is false.
(C) (1)is false but (2) is true.
(D) Both (1) and (2) are false.

Assertion (1) : Morphemes  are
meaningful units.

Assertion (2) : Syllables are
meaningless units.

(A) (1)is true but (2) is false.
(B) (1) is false but (2) is true.
(C) Both (1) and (2) are true.
(D) Both (1) and (2) are false.

Apocope is different from syncope in
the sense that

(A) Apocope before

syncope

applies

(B) Apocope applies word finally
while syncope applies word-

medially

(C) Apocope applies word
medially  while  syncope
applies word finally

(D) Apocope applies word
initially  while syncope
applies word finally.

ATR stands for

(A) Alternative  Transformation
Rule

(B) Advanced Tongue Root

(C) Alternative Tree
Representation

(D) Advanced Tongue Raising
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14.

15.
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16.

17.

18.

A zero-morpheme is different from

an empty morpheme in the sense that

(A) both the zero and empty
morpheme have form but no
meaning.

(B) both the zero and empty
morpheme have meaning but
no form.

(C) the zero morpheme has form
and the empty morpheme has
meaning.

(D) the =zero morpheme has

meaning and the empty
morpheme has form.

Modality is

(A) Speaker’s attitude towards the
event.

(B) A combination of tense and
aspect.

(C) A combination of tense and
voice.

(D) The style of speaking.

Match the items in List — I with
List — II and select the correct answer
from the codes given below :

List -1 List — II
(a) Palatography (i) Study of
waveform

(b) Spectrography (ii) Study of
voice pattern

(c) Laryngography (iii) Study of
place of
articulation

(d) Oscillography (iv) Format
patterns  of
vowels

Codes :

i Gy i) @Gv)
A @ ® (© (@
B @ © (@ (@
© @ (@© b @
M © » @ @
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19.

20.

21.

Assertion (1) : The waveforms of
voiced fricatives are both
periodic and aperiodic.

Assertion (2) : Voiced fricatives
are at the same time vocalic
and consonantal.

(A) Both (1) and (2) are true.

(B) Both (1) and (2) are false.
(C) (1)is true but (2) is false.
(D)  (2)is true but (1) is false.

“Sandhi” is a term which refers to

(A) purely morphological
modification

(B) purely phonological
modification

(C) the phonological
modifications of grammatical
forms

(D) purely optional phonological
modification

Match the items in List — I with
List — II and select the correct answer
from the codes given below :

List -1 List - 1I
(a) Saussurian (i) Collocation,
colligation
(b) Chomskian (i1) Order,
selection

(¢) Firthian (iii) Projection,
movement
(d) Bloomfieldian (iv) Syntagmatic,
paradigmatic
Codes :
@ b © @
(A) (v) (@) @  (@1D)
B) av) @@ @) (D)
© @ a (@) @Gv)
D) ) G@v) @ ()
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22,

23.

24.

Assertion (1) : Constituents of a
construction are called
“Immediate Constituents”.

Assertion (2) : Since they are
linear they are called so.

(A) (1)is true (2) is false.

(B) (1)is false (2) is true.

(C) Both (1) and (2) are true.

(D) Both (1) and (2) are false.

The “Deep Structure” of a sentence,
according to “Aspects” model of
Chomsky, has certain features. Find
out a feature that is not useful in
deciding the Deep Structure.

(A) Deep structure is obtained
after applying PS Rules and
Lexical Insertion Rules.

(B) Deep structure is the one
which is responsible for
semantic interpretation.

(C) Deep structure is the one used
for determining subject of,
object of relationships of

phrases.

(D) Deep structure is obtained
after applying
Morphophonemic Rules.

Match the items in List — I with
List — II and select the correct answer
from the codes given below :

List -1 List - 1I
(1) Syntactic (1) subject to
structure subject,
framework subject to
object
(i) Aspects (2) NP movement,
framework Move o
(ii1) Post-Aspects (3) Singularly,
framework generalized
(iv) GB- (4) Pronominaliza-
framework tion,
Relativisation
Codes :

O Gy i) (1)
A @ @O 2 O
B @ @O @G O
<© & @ dO @
® @ & @G @O
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25.

26.

27.

28.

29.

From the following identify the set
which is not a meronym :

(A) House, roof
(B) Cup, saucer
(C) Body, arm

(D) Book, page

Identify the set which contains
propositional attitude verbs only.

(A) think, believe, hope, wish
(B) run, go, eat, play
(C) be, have, can, may

(D) dissolve,
disclose

dismiss, display,

The expressions :
(a) cobra, snake, reptile

(b) spaniel, dog, animal are

examples of
(A) Antonymy
(B) Homonymy
(C) Synonymy
(D)  Hyponymy

Cleft sentence formation is used as a
test for identifying

(A) Noun phrases

(B) Preposition phrases
(C) Verb phrases

(D) Adverb phrases

“Projection principle” used in syntax is
(A) To serialize case forms with
verbs.

(B) To derive syntactic form from
lexical subcategorization.

(C©) To move N, VI, V, P
categories from one place to
another

(D) To get logical form from
grammatical form.
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A @ O @ 3
B @ O @ O3
© 3 @ GO @
® 2 & @ O
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(1) =l ¥ odl, Fal

(3) e, AHRIHT

25.

26.

27.

28.

29.

frefafad § ¥ T8 9 & YgaH Hitg,
ST TR (meronym) T €

(A) HHM, B

(B) U, wiT

(C) R, =T

(D) T, I

U9 U2 & BTN iU SHH e

Tiaemitass SiTgh o ok fohamd &

(A) A, fawarg AT, SR S,
T AT |

(B) 4TI, STET, WHET, WA |

(C) &M, TG, T, T |

(D) faora &, famfsta s, v
AT, Uehd AT |

(a)  ERT, TU, TIGT
(b)  Torehrt i, T, o]
ERRELEHE NS

(A) Toetmar

(B) STl

(C) va™an

(D) 3TEAHEaT

e I T 1 [AEfanad § 9 g
TEE o felT v e ST g 2

(A) 3 UgEY

(B) O ugey

(C) WM UReYy

(D) ferarfasioor ugsy

AT § VT fagia T wEhT g

€

(A) FRE-®G 1 R ¥ wH foaem
o foe

(B) HIENT SUSRUT ¥ dTeRIia=ard
T & SThe h [T

(C) N, VI, V, P %ifedi =l U T 4
T E R & STH & e

(D) ERUTF TG T AqlMRE €9 W
X % fetu




30. The condition which must be 35. Match the items in List — I with
satisfied if a particular state of affairs List — II and select the correct answer
is to obtain, or what a speaker from the codes given below :
assumes in saying a particular List -1 List - II
sentence is called (a) Neo- (i) Wave theory
(A) entailment grammarians hypothesis
(B) truth value (b) August (i) Regularity of
(C) presupposition Schleicher sound change
(D) illocutionary force (©) Johanpes (iii) Dialect  Atlas

Schmidt of New
- England
31. Among Drav1d1an‘ languages Fhe (d) Hanskurath  (iv) Family free
following language is spoken outside
. model
India : .
A) Kolami  (B) Brahui Codes :
( ) @ O © @
(C) Gondi (D) Tulu (A) (i) Gv) () (i)
B) (v) (i) () @)
32. Languages belonging to the © Gi) @Gv) @@ ()
language families are D) av) @) @ ()
agglutinative in nature 36. Native word is used to express the
(A) Dravidian, Indo  Aryan, concept foreign to the native
Munda, Tibeto Burman language. It is known as
(B) Dravidian, Munda, Tibeto (A) Loan Word
Burman (B) Loan Shift
(C) Dravidian, Indo Aryan, Eg)) iggﬁ gletrelrclls'on
Munda Xtenst
(D) Tibeto Burman, Munda, Indo 37.  Extensions made from inflected or
Aryan derived rather than from base forms
are known as .
33.  The process of segment deletion in (A)  Folk Etymology
the word final position is known as Egg (léack formation
ontamination
A) Syncc')pe (D) Analogical levelling
(B) Prothesis 38.  Assertion (1) : Language  areas
(C) Apocope generally center about a point
(D) Haplology whlch is touched by relatlyely
few isoglosses. Such points,
. areas of prestige are called
34. A pidgin becomes a Creole when focal areas.
(A) It becomes mothertongue of Reason (2) : Innovations
the next generation. transmitted from them are
(B) It becomes the official accepted by surroun_ding areas
language of the community. ?S flar as thte dprestlge of the
. ocal area extends.
© .It ;t)ec?mes: thde n?dlum of (A) Both (1) and (2) are true.
instruction in education. (B) (1) is true (2) is false.
(D) It Dbecomes a standard (C) (1) and (2) both are false.
language. (D)  (2)is true but (1) is false.
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30.

31.

32,

33.

34.

Iie g foeiy fafq ura ot €, st
HIE a9 AR St T9F FET S FD
O AT &, 39 Fed &

(A) A

(B) 9 HA

(C) =

(D)  TCARIRRI I

giore WIS % 3ol i G 9Rd %
e Al STt € 2

(A) T
(B) sgE
(C) et
D) TI

AT-IRGR T 9T <l Tepid
AT & |
(A) wfors, dei-ame, g, foeedi-amt
(B) o, Her, fasdt-smt
(C) 3T, -3, Te
(D)  foresett-ar, Her, ei-31m

IIETd B GE-eAT-UshaT i e ©
(A) HEAT

(B) aisHEld

(C) ity

(D) THIER &AM

fofs 39 |5 shater & STt &, <1 98

(A) ST GGl h! TGS &1 STl € |

(B) X ST i JISTHTST &1 A & |

(C) ToreT-<Tre o foTetr 1 ATeAy &l STt
g

(D) T TS &l Sl & |

35.

36.

37.

38.

T — I Y e Hal 6 gt - 11 ¥ e

T AR A KT M0 Fei § § T IW
T
e -1 e -11

(a) TFARCEE! (1) T fEg
TR - T

(b) SR AR~ (ii) e f-ofa
EARERIELGIE

(c) SeFE oA (i) @ Fois @i
el — TeeTd

(d) &P (iv)trfiaﬂ et
Hreet

HE

@ (b (o (@)
A) () Gv) G i)
B) (v) (i) G @)
©) Gi) Gv) () (i)
O (v G) G i)

UG I T TN ST AT &% FqEA
fo=eT 1 TR W =R FA F o
P ST e 1S Fed &

(A) RIS

(B) 0T TMIAROT

(C) o1 faysyor

(D) 1 fodr’

SMERYd ®A 1 3T9en fqwfda steran
;ﬁﬁr?&lﬁﬁwﬁwﬁﬁww

(A) AHFAT
(B) HICIACT AT
©

(D) TGTIHCTS HHEALIHT

sfiepe (1) 1 WoE & 9rga: oY

f‘slgaﬁnfr 3R Hsd e &, S
dqita T
@ﬂﬁ@aﬁaﬂm@raﬂﬁ%

TP (2) : 399 IR STHEATE aRT 37
% &5 H, Sl 9% g &
yfTsr o foedR g &, Wi &
A E | o

(A) (1) IFAXQ) S FFE |

(B) (1) W€ 3N (2) A |

(©) (1) 3R (2) 3T ST E |

(D) (2)TAE, A (1) 39T |
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39.

40.

41.

42.

43.

In the method of Internal
Reconstruction is taken as
basis to reconstruct the earlier form.
(A) Morphological System

(B) Phonological System

(C) Morphophonemic alternants
(D) Morphology and phonology

The Indian Subcontinent is inhabited

by a very large population who speak

languages belonging to the following

language families.

(A) Celtic, Armenian, Dravidian,
Indo Aryan

(B) Germanic, Celtic, Dravidian,
Indo Aryan

(C) Dravidian, Indo Aryan, Austro
Asiatic, Tibeto Burman

(D) Italic, Baltic, Dravidian,
Munda

Communication between different
groups especially those which are
socially, ethnically or linguistically
different is

(A) Intra group Communication
(B) Intergroup Communication
(C) Linguistic Communication
(D) Mass Communication

A succession of speech varieties
without well defined linguistic
boundaries is known as

(A) Dialect continuum

(B) Register

(C) Sociolect

(D) Regional dialect

Arrange the following in order in
which they appeared.

(1)  Cognitive method

(i) Pattern practice method

(iii) Communicative approach

(iv) Grammar translation method
Codes :

@ ® (© (@
A) 1 Gy i) (Gv)
B) aGv) Gy (@) (i)
© G G @O aGv)
D) @Gv) ) (i) @)
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44.

45.

Assertion (1) : In translation both
source and target language
texts communicate the same
message.

Assertion (2) : A language may
contain expressions which refer
to concepts that do not exist in
another language.

(A) (1)is false (2) is true.

B) (1)is true (2) is false.

(C) Both (1) and (2) are true.

(D) Both (1) and (2) are false.

Match the items in List — I with
List — II and select the correct answer
from the codes given below :

List-1 List — 11
(a) Literal (i) Reading in
comprehension order to
understand,
remember
and recall the
information
especially
contained in
the passage.
(b) Inferential (i) Reading in
comprehension order to find
information
which is not
explicitly
stated in a
passage.
(c¢) Evaluation (iii) Reading  in
comprehension order to
compare
information
in a passage
with the
reader’s own
language

(d) Appreciative (iv) Reading in

comprehension order to gain
emotional
response.
Codes :

@ (b (© (@
A @ G () 3v)
B) @Gv) @) @@ (i)
©) @G @ G @Gv)
D) Gv) @ @) (i)




39.

40.

41.

42,

43.

MAR T UFd | i
TS €Y % GAMHI0T 6 SR T H Tgr
fepan ST @R & |

(A) wUCHSD FIL&q

(B) e e

(C) TUHH gied
(D) R AR WiHaTE

IRAE UMY B 9’ e U

3G &l €, ST (H=Afettad SeT-aieri

I AT St &

(A) Hices, M, side, YR

(B) STHH, Shices, Fog, qRIUE

C) 3o, wRUE, IR-URMEE,
INEERIEEL

(D) zfoteh, aMfoes, Sfag, Har

o= Tgel & g guo, oY 7 9
Y Gl & S S TS, AHEST
3T T § ST &, AT &

(A) SATRETE FUTOT

(B)  3id:THE WUWOT

(C)  TSTE THWT

(D) SHIER

T ATST-Frret & foT ares-TeRRi
3TToHY AT ©

(A) el giaes

(B) WAl

(C) QTHITSTe siett

(D) &= et

efeiad = 519 sh9 5 o 31w 34T HH
: -
@) G3THTH I5d
(i) AT 21T ugid
(iii) EUYO-3UTTH

(iv) THT-SAR TG

@ (b (9 (@
A @) @y (@) (1v)
B) @Gv) @y (@) (i)
© Gu) ) @ (1v)
D) Gv) G G @)

44. AfHFHEE (1) : AR § G SR
TR IS I Uk & 37 =]

45.

FAE |
st (2) : TRt 9w # U
RO TS &, ST & o | 7
2 |
(A) (1) TFFE 3R (2) A |
B) (1) TFE IR (2) 39A |
(C) (1)ARQ)SAIFAE |
(D) (1) AR (2) 3T EA & |
g — [ 8 e uei o gt — 11§ 5 e
TR ¥ e ST SR A fqu T et
T e I g
g -1 e - 11
(a) WM ey (1) fodl g
foomey TRt
et H fHfed
T, B GHSH,
AT FA dAl
T ERT A &G
T U |
(b) sFMmfaa (i) el =i o
W w99
aHfed g
T S & Tohalt
TS |
(c) AearRA g (iii) REt  weiwr "
fAfed = =i
U8 ST
AT & TorT A
&q foram v |
(d) FFEHE (i) HIETCHS Hidshar
Y T S & Tohalt
TS |
FES
@ o (© (@
A) () Gy Gi) o (Gv)
B) @Gv) @Gi) @ (i)
©) Gi) @G 3G (v
D) Gv) @ G (i)
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46.

A language test that measures
knowledge of Individual language
items, such as those of grammar with

different sections as tenses, adverbs

and prepositions is

(A)
(B)
©)
(D)

Discrete point test
Diagnostic test
Aptitude test

Achievement test

47.  An error which results from faulty or

partial learning of the target language

1S

(A)
(B)
©)
(D)

48. Assertion (1) : In

interlingual error
intralingual error
lapses

tongue slips

“contrastive
linguistics” a comparison of the
linguistic ~ system of two
languages is made on the
assumption that the main
difficulties in learning a new
language are caused by
interference from the first

language.

Assertion (2) : CA assumes that

(A)
(B)
©)
(D)

these difficulties can be

predicted and reduced.
(1) is false, (2) is true.
(1) is true, (2) is false.
Both (1) and (2) are true.
Both (1) and (2) are false.

49.

50.

Assertion (1) : A process through
which dialect differences become
reduced is “dialect levelling”.

Assertion (2)
which dialect differences are

: A process through

enhanced is “dialect levelling”.
(A) (1)is false, (2) is true.
(B) (1)istrue, (2) is false.
(C) Both (1) and (2) are false.
(D) Both (1) and (2) are true.

Match the items in List — I with
List — II and select the correct answer
from the codes given below :

List -1 List - I1
(a) Sensorimotor (i) Development
stage of symbolic
function

(b) Pre-operation (ii) Environmental

stage understanding

(c¢) Concrete (i11) Understanding

operation abstract
stage concepts
(d) Formal (iv) Mental
operation operation
stage
Codes :

(@ ® (© (@
A @® G 3)  3Gv)
B) @G @ @) 3Gv)
©) @) Gv) G (@)
D) @Gv) @G @ (i)
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46.

47.

48.

TQT AI-GR4eoT, S -9 A,
ST b SATHOT i AT T fafe= et e

(A) TeGhie Uiz wieto
(B) TTemTcHes wiemor
(C) g e
(D) 3UAfeY TRIeToT

&g WTST W A ik 9 31T AT
Y Y G H 3T Jfe FHeaArd &

(A)  FFR-uTTE i
(B)  3TR-4ToE Ffe
(C) =t

(D) TTea Taer

afiyeree (1) @ “saferent 9T famm & <t
TSI Y W AT St T
T SHH T I Sl § foh fomdt ot
T ST I GEH H ST T
HISAZAT TH A 3 FHROT 3
YA ¥ 3 BA & |

AfTPe (2) : AfRH 9o foam=
qEIE & % 3w

AT AR ST ekl § AT T
0 2T ST HHAT T |

(A) (1) 388, (2)FTTE |
(B) (1)FAE, (2) IEAE |
(©) (1) AR Q)IATAE |
(D) (1) 3R (2) I A E |

49.

50.

AR (1) : U UHT Uik STEeh gRT
A 9 w9 B 8, g8 “sel
HAEIEHOT” ShEeATdl € |

TP (2) : TH UG Uiehan STaeh 510
AT 9% §¢ S @, 9 el

THERIRT”

FEAA & |
(A) (1) 3FE, (2)TTE |

(S atetT)

(B) (1)TFe, (2) 3T |
(C) (1) 3R (2) ST 3 AT |
(D) (1) AR Q)T FAE |

T — 19 & 7 mel o g - [ e

el & WY HeA™ wifse 3R A fgu T

ST & YR W Fél IR T
-1 T - 10

(a) HORIRE ORGIEIRED
Ecre T T faenTd

(b) e-srETe R CHE
AT

(c) T T5ha ST (i) ST Fea-ae

(d) AT (iv) aFrge fsmar
TTAA 3{I&0

HiS :

(@ () (© (@
A © G (@) 3Gv)
B) @G @ () 3Gv)
©) @) Gv) G (@)
D) Gv) @G @ (i)
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